	[image: image2.png]cbseﬁguess




	http://www.cbseguess.com/



Guess Paper – 2009
Class – X

Subject – Mathematics
General Instructions:

· All questions are compulsory.

· The question paper consist of 30 questions divided into three sections A, B, C and D. Section A comprises of 10 questions of one mark each, section B comprises of 5 questions of two marks each , section C comprises of 10 questions of three marks each and section D comprises of 5 questions of six marks each.

· All questions in Section A are to be answered in one word, one sentence or as per the exact requirement of the question.
· Use of calculators is not permitted. You may ask for mathematical tables, if required.
SECTION A

1. State fundamental theorem of arithmetic.
2. Write the quadratic polynomial whose zeros  are 5 and -11. 
3. For what value  of k the following system of equations represent coincident lines.

x +5y = 7 ,  4x + 20y + k =0
4. If one root of the quadratic equation 3x2 + kx -4 = 0  is 4 , find the value of k.                      
5. Evaluate sin 600 cos 300  +    sin300 cos 600
6.  In the adjoining fig. if TP and TQ  are two tangents to a circle with centre O so that angle POQ =  1100. Find  angle PTQ. 
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7. A ladder 100 m long reaches a window  8 m above the ground .  Find the distance of the foot of the ladder from base of the wall.
8. Find the area of the quadrant of a circle whose circumference is 22 cm..
9. What is median of 3,5,7,9,4,12,6 and 8.

10.  Which of the following can not be the probability of an event.
a. 2/3

b. – 1.5

c. 15%

d. 0.7

                                                                 SECTION - B 
11. Which term of the A.P.  6, 13 , 20 , 27,  ………..  is 98 more than its 24th term.
12. If sin (A + B )  = Ѵ3/2  and  cos (A  -  B)  =  1 , find the values of  A and  B.[ 00 < A + B < 900  , A ≤  B ]
13.  Find the ratio in which the line segment joining the points  (6,3) and ( 3,-9) is dived internally by x- axis.
14. In ∆ABC , if angle A = 90 0  and  AD     BC , prove that AD2 = BD × DC.
15. A die  is thrown once, find the probability of getting
i. A prime number
ii. A number between 2 and 6
                                                                            SECTION – C

16. Show that any positive even integer is of the form of  4m  or  4m + 2 , where m is any whole number.
17. Find the zeros of the polynomial 4x 2  - 7 and verify the relationship between the zeros and its coefficients.
18. Solve the following system of linear equations graphically. Shade the region bounded by these lines and x-axis. Write the coordinates of the vertices of triangle so formed.

3x + y – 5 = 0
2x - y  - 5 =0
19. Find the sum of n terms of   an A.P. whose   nth  term is given by  an = 5 - 6n.

20. Find a relation between  x and y  if  ( x,y ) , ( 1,2) and  ( 7,0) are collinear.
21. Three consecutive vertices of a parallelogram are A(1,2), B( 1,0), and C(4,0). Find the fourth vertex.
22. Prove that :
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23. A quadrilateral ABCD is drawn to circumscribe a circle. Prove that  AB + CD  = AD + BC . 
24. Construct a triangle ABC with sides 5cm,6cm and 7cm and than construct a triangle whose sides are (7/5)th of the corresponding sides of triangle ABC.  
25. Calculate the area of the designed region in the figure common between the two quadrants of the circles of radius 8 cm each.




 SECTION -D

26. Prove that , “The ratio of areas of two similar triangles is equal to the ratio of squares of any ttwo corresponding sides.”
Using  the above ,  prove that the area of the triangle formed by joining the mid points of adjacent sides of a triangle is 1/4  of the area of the triangle.
27. A right triangle whose sides containing right angle are 15 cm and 20 cm , is made too revolve about its hypotenuse. Find the volume and surface area of the double cone so formed.
28. At a point on the level ground , the angle of elevation of a vertical tower is found to be such that its tangent is 5/12. On walking 192 meters towards the tower, the tangent of the angle is found to be 3/4. Find the height of the tower.
29.  The given distribution shows the number of runs scored by some top batsman of the world in one day international cricket matches. Find the mean , median and mode of the following frequency distribution
	RUNS SCORED
	NUMBER OF BATSMAN

	3000-4000
	4

	4000-5000
	18

	5000-6000
	9

	6000-7000
	7

	7000-8000
	6

	8000-9000
	3

	9000-10000
	1

	10000-11000
	1


30. Hari can row a boat 8 km downstream and return back in  1 hr 40 minutes. If the  speed of stream is 2 km/hr, find the speed of boat in still water. 
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